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2001 ~2002 4 'y = 1.3420x - 3.3750 (r = 0.9261)
201020114 'y = 1.1852x - 3.2657 (r = 0.9710)
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200120024 'y = 1.5861x - 5.4883 (r = 0.8832)
201020114 'y = 1.2680x - 4.9152 ( = 0.9356)

loglFlow)

log{Load)

® 200 -200248F

B 2010-20148

201 0-201 1 4




e

: PO,-P £ 7 11 L-Q=t
2001 ~2002%4 'y = 1.1435x - 5.3296 (r = 0.8132)
201020114 'y = 1.0791x - 5.1124 (r = 0.9139)
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2010-2011 2001-2002
2001 LQ 2010 LQ

( m3 151 - 14.3 -

TN 957 1024 837 869

(t/year) |TP 61.7 76.5 51 51.1
TOC 1878 3028 2398 1628

NO3-N 768 745 597 700

PO,-P 16.6 13.4 11.9 15.1
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T - -2001~20024 0.524mg/L. 2010~2011% 0.578mg/L
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444 % - - -2001~2002% 0.369mgiL

201020117 :0.468mg/L
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